
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/pm2244-cabinet-assembly
7/4/25

PM2244 Cabinet Assembly
Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/pm2244-cabinet-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/pm2244-cabinet-assembly
7/4/25

Description

Index
Number

Part
Number Description Size Qty

1 PM2244-301 Cabinet Door  1

2 PM2244-302 Door Latch  1

3 PM2244-303 Foam Strip  1

4 PM2244-304A Cabinet  1

5 F002640 Flat Washer 8.5*16*2.0T 6

6 F002114 Lock Washer M8 6

7 F005403 Socket Head Cap Screw M8*1.25P*20L 6

8 F006242 Hex Cap Bolt 3/8"-16NC*2-1/2"L 4

9 F001511 Nylon Insert Lock Nut 3/8"-16NC 4

10 PM2244-310 Caster  4

11 PM2000-105 Powermatic Name Plate  1

12 F000105 Phillips Round Head Screw 1/4"-20NC*3/8"L 2

13 PM2244-313 Screw Knob  2

14 PM2244-314 Powermatic Stripe Set  1

15 LM000071 Warning Label  1

16 LM000072 ID Label, PM2244  1

Additional Information

Stock Number 1792244-4

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/pm2244-cabinet-assembly

